EARAZROREIERT — 2 N—XBISY —F 2013528178 (H) 16@E%14H

Wl 771 FILL—X C3 5% —#% ‘ ] 2 ‘ [(ErmE] — | 4 (&) 13000 RE
[AE4£] 1% :9,000H”  23%:23,000M  3#%&:11,000MH  437%&:8,000H”  53%&:500 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
) FEETE .08, —4-3- 9| — HEshfi— ()
(55| 7HOT FT—0 o4 ) 1(2_8)2 4-4-3-1 | 40.9 3 (4_311) o e
LAY THLTF— BiTITU—TATF W %%
o & :29. ~6-5- . — FFRA (SH)
2 4 SausL 4 5 RS 1(259)2 6-6-5-5 | 41.0 1 422? g,
L:F—TRTPN—F BATXT74T7— AR 71X
. . . > BRER : —3-4- — BIFFRE (BH)
s ol E-syzE—+ B4 & 35 N IR R S e
R:2RUIYZXIZX B:T72—-FvO-—H al=sbae ]
= N aalizpei) : - = EfEZ (SH)
al7l 7| TLaFInFT i 7 S 1(/35;)3 2-2-2-2 | 42.1 2 zzg; gaa%%%
RiXTT— ML T—h BILTIA=2Y =Eitl e
< N AAH :30. -1-1- . — E#EEE (SH)
5 R EUED RS 14 o 1(350)3 1-1-1-2 | 43.2 6 :1:329) i
RiN—g)—VI b B:TILRITEE FaIstie]
= H o6 | KFAE 1:30.6 9-8-9-6 |42.3| — 5 490 |HEZT EH)
6l8lg|71AZ1 1 56.0 (1 1/2) -3) Eme
L:vYILN—FK B:U—TAv— H—L—-TJvIXr - T7—LARS
. . N FEPEL :30. —9-8- . - HEZN (B
8] 8| e~ -5 s | BS Gy | e el o |0 | e RS
Lo—AJa—- B:51U—-N-K BB
w - o7 | ERRAE 1:33.0 8-7-7-8 | 44.7| — 9 548 | #R)IIEE (SH)
gl1]1|&Y7x=v 7R 56.0 (21 4) (-3 | FEEAR
R:rvm7z B:2YILE— IJELERTy—L
- ER=bN :34. —5-6- . — mEE (FH)
9 3| =1 i 4 a8 1 (374)5 5-5-6-9 | 46.1 7 ;1;49) mlms
L:viNyBLhTr BATU—FK—+ RS
® I—F—@EBIERL
|S=7r= 6,7,2,5,3,(4,8),1,9
20—7— 6,7,2,5,3,4,1,9,8
3T—7— 6,7,5,2,4,3,1,8,9
41—F— 5,(2,6,7),4,9,8,1,3
[ RN
B 5 490/ 794K 4-5 300 & 4-5 790 &R 2-4-5 950M
# B 5 1204 2=l 300 B E 4-5 660 EE 5-4-2 5,020/
4 120 2-4 340M B H 5-4 1,290/
2 150

ABICOVWTRDTEEERROODE. TR LIV,



